9-3 Factoring Trinomials: x² + bx + c (Part I)

In Chapter 8:


(x + 3)(x + 4)  = x(x) + x(4) + 3(x) + 3(4) ⇐ FOIL



= x² + 4x + 3x + 12



= x² + (4 + 3)x + 12



= x² + 7x + 12

In Chapter 9: 

x² + 7x + 12 = x² + (4 + 3)x + 12⇐ Reverse FOIL



= x² + 4x + 3x + 12



= x(x) + x(4) + 3(x) + 3(4



= x(x + 4) + 3(x + 4)



= (x + 4)(x + 3)

Reverse FOIL (UnFOIL)

ax² + bx + c = x² + 4x - 12

a = 1

b = 6 + -2

 c = 6 * -2



   = n + m

    = n * m

* in other words, find what two numbers multiply to be c and adds to be b

x²  + 4x - 12 = x² + (6+2)x + 12


6 and -2 add to be 4 multiply to be -12


= x² + 6x + 2x + 12


distribute


= x(x + 6) + 2(x + 6)


factor by grouping


= (x + 6)(x+2)



Solution!
Example 1: Factor each trinomial.

A) m² + 6m + 8



B) x² - 12x + 27

C) n² + 3n – 54



D) y² - y - 20
HW p492 # 17 - 34, 36, 70, 74
 
